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ﬂh Briiche multiplizieren Name: L Osungsschlissel

L 6se jede Aufgabe. Antworten
D 12_ 28 1_ ;
54" 34 1 20
1 2 2 8 1 8 8
— e — = —— — e —=— 2 12
5 4 20 3 4 12
90
3. 6
5
3 .1 9_ 49 5 1_ a. 8
3 2 2 4 273
10 .9_9%0 5,15 : 2
3 2 6 2 4 8 70
6. 6
238
7 25
5) 21 13 _ 6) 3&.3&; 140
5 5 3 2 8. /16
21 13 273 10, 7_70 221
5 5 25 3 2 6 9, 16
9
10. 16
017 14 8 52,10 _ Y
5 5 = 4 4 - 11. 8
17 14 _ 238 14 10 _ 140 » 7,
5 5 25 4 4 16
9 13 17 _ 0,11
4 4 4 4
13 17 _221 9 1 _9
4 4 16 4 4 16
1) 13 1 _ 1)1 1_
4 2 2 3
13 1_13 1,11
2 8 2 3 6

1 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
11-12[ 8] 0

[ Mathe ] www.CommonCoreSheets.de




